### Jammu & Kashmir

P10

Dated: 28-10-2022

Advt. Cost: 95.87 lacs

Allott. Cost: 95.39 lacs

Time of Compl.: 90days

# OFFICE OF THE EXECUTIVE ENGINEER PHE DIVISION SOPORE (1/8 Mr. Abdul Rashid Mala (2) Ch M. Of Mala

M/s Mr. Abdul Rashid Mala S/o: Gh.Mohammad Malla R/o: Khanpora Baramulla

Reg. No.: SE/Hyd./Sopore/99 (Ninety Nine)/AAY/2004-05

GST No: 01ANLPM1117CIZR Phone No: 6005755355

Position of AA: Accorded vide No: 24/SE/Hyd/DB/JJM of 22-23 dt: 26-08-2022 Position of TS: Issued under No: CE/PHE/DB/711 of 9/2022 dated: 22-08-2022

Subject: - Retrofitting of water supply scheme Rampora Rajpora construction including secessfull testing and commissioning of 2 No. service Reservoir of 0.10 lac gallons capacity each along with sluice chambers laying fitting and other allied works under JJM. (issued under Tender ID No:2022\_PHE\_ 167238\_7)

Ref:

1. Your on-line tender received in response to this office Fresh E-NIT- No: 02/JJM/JSDS of 04/2022 dated: 20-04-2022. S.No 07.

2. Superintinding Engineer Hydraulic Circle Bla/Bpr HQ. Sopore's authorization

issued under No:- SE/Hyd/DB/3623-34 dated: 30-06-2022.

3. This office letter of intent No:- JS/PHED/Spr/CS/DB/3106-10 dated:- 16-07-2022.

For and on behalf of Lt. Governor of Jammu and Kashmir Union Territory, contract for the work mentioned above is here by fixed with you on the following rates, terms and conditions.

Α	Rates:				
S. No	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
1	Earth work in excavation by mannual means over areas (exceeding 30cm and upto 1.5m in depth and width as well as 10 Sqm in Plan) including disposal of excavated earth upto 1m cutting edge, disposed earth to be levelled and	Cum	1669.50	436.00	727902.000

neatly dressed in all kinds of soil. Earth work in excavation by mannual means 2 over areas (exceeding 30cm and upto 1.5m in depth and width as well as 10 Sqm in Plan) Cum 373.81 539.35 201614.424 including disposal of excavated earth upto 1m cutting edge, disposed earth to be levelled and neatly dressed for foundations Earth work in excavation by mannual means 3 over areas (exceeding 30cm and upto 1.5m in depth and width as well as 10 Sqm in Plan) Cum 6.56 855.65 5613.064

> . Draftsman

neatly dressed Ordinary Rock

including disposal of excavated earth upto 1m cutting edge, disposed earth to be levelled and

Cont. on Page No: 2nd

y Exen

# Retrofitting of W.S.Scheme Rampora Rajpora under JJM.

S. No	I diliculars of liems	Unit	Quantity	Allotted Rate	Amount in Rs.
4	nonzontal on level.	Cum	73.50	816.40	60005.400
5	8 graded stone agg. 40 mm nominal size Crushed	Cum	59.67	4861.83	290105.396
6	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)	Cum	142.32	6465.19	920125.841
7	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level in 1:1.5:3Mix. Using 20mm nominal size of crushed aggregiates:	Cum	44.54	7800.76	6 347445.850
8	Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer-incharge. All works above plinth level.		125.50	9302.9	97 1167522.735
	Centering and shuttering including strutting, propping etc, and removal of form work for Foundations, footings, bases for columns	Sqm	511.32	2 262.3	30 134119.236
	Centering and shuttering including strutting, propping etc. and removal of form for: Arches & domes.	Sqm	31.66	2086	66068.088
	Centering and shuttering including strutting, propping etc. and removal of form for: walls (any thickness) including attached pilasters buttresses, plinth and string course fillets, kerbs	Sqm	312.6	573	179396.98
1	Centring and shuttering including strutting, propping etc, and removal of form work for Cuspended floors	Squi	n 12.00	0 635	5.60 7627.20
(	Centering and shuttering including strutting, propping etc. and removal of form for: Lintel, beams & cantilevers etc	, Sqn	n 52.5	6 502	2.85 26429.7

Cont. on Page No: 3rd

# Retrofitting of W.S.Scheme Rampora Rajpora under JJM.

S. No	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
14	Centering and shuttering including strutting, propping etc. and removal of form for: Columns	Sqm	47.04	680.15	31994.256
15	Extra for shuttering in circular work for Foundations, footings, bases for columns	Sqm	18.36	52.46	963.166
16	Extra for shuttering in circular work for Walls	Sqm	202.22	144.77	29275.389
17	Extra for shuttering in circular work for lintels, beams & cantilevers	Sqm	52.56	100.57	5285.959
18	Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm)	Sqm	159.04	91.80	14599.872
19	Reinforcement for RCC work including straightning, cutting, bending, binding. T.M.T bars	Kg	15638.10	87.17	1363173.177
20	Extra For RCC work In Super Structure above floor V Level for Each Floor	Cum	44.54	280.95	12513.513
	Providing and mixing water proofing material in cement concrete work in doses by weight of cement as per manufacturer's specification. (1 kg of water proofing material in 50 kg of cement)	Kg	534.60	57.90	30953.34
22	12mm Thick cement sand plaster finished with a floating coat neat cement of mix 1:3	Sqm	965.74	378.13	365175.26
23	Extra For Plastering on circular work one coat.	Sqm	159.04	34.35	5463.02
I	Structural steel work in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. Welded	Kg	300.00	102.13	30639.00
h p p gr	Steel work welded in built up sections/ framed work, including cutting, noisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In ratings, frames, guard bar, ladder, railings, rackets, gates and imilar works.	Kg	5124.08	133.30	683039.86
of 50 wa (Co	roviding and fixing GI Chain Link fabric fencing 4mm dia wire of required width in mesh 0mmx50mm including cost of nuts and bolts, ashers as required at site with all carriages omplete Job)	Sqm	540.00	733.50	396090.00
an wo		Sqm	554.40	52.75	29244.60
bra	inting with synthetic enamel paint of approved and and manufacture on steel galvanised n/ steel work	Sqm	554,40	121.95	67609.08

Draftsman

Cont. on Page No: 4th

Page No: 04

	Page No: Retrofitting of W.S.Scheme Ramp	ora Rair	ora under J	JM.	Lia Do
S. No	Particulars of Items	Unit	Quantity	Allotted Rate	Amount in Rs.
29	Providing and fixing of nuts and bolts and chip including one end fix anchor block	Kg	60.00	100.00	6000.000
30	Preparation of subgrade by excavating earth to an average of 22.5 cm depth, dressing to camber and consolidation with road roller of 8-12 tonne capacity including making good the undulation etc. and disposal of surplus earth upto 50 meters.	Sqm	1200.00	139.40	167280.000
31	Supplying and stacking at site Graded crushed stone aggregate of size 63 to 45 mm	Cum	180.00	564.60	101628.000
32	Supplying and stacking at site Graded crushed stone aggregate of size 53 to 22.4 mm	Cum	180.00	575.30	103554.000
33	Laying, spreading and compacting stone aggregate of specified sizes to WBM specifications in uniform thickness, hand picking, rolling with 3 wheeled road / vibratory roller 8-10 tonne capacity in stages to proper grade and camber, applying and brooming requisite type of screening /binding material to fill up interstices of coarse aggregate, watering and compacting to the required density.	Sqm	360.00	710.85	255906.000
34	Spreading 6 mm thick red bajri, watering and rolling complete including preparation of the surface and rolling (Payment for red bajri to be made separately):	Sqm	1200.00	10.30	12360.000
35	Laying and fitting of G.I Pipes Incl coost of pipe specials				
35.	1 65mm ø G.I	Mtr	4500.00	95.28	428760.00
35.2	2 50mm ø G.I	Mtr	2500.00	58.30	145750.00
35.3	3 40mm ø G.I	Mtr	1300.00	54.62	71006.000
35.	4 25mm ø G.I	Mtr	2500.00	39.14	97850.000
35.	5 20mm ø G.I	Mtr	2000.00	26.76	53520.000
35.	6   15mm ø G.I	Mtr	2500.00	25.40	63500.000
36	trench excluding rock.	Cum	1571.75	198.70	312306.725
37				NAA ,	
37.		MT	157.50	410.63	64674.225
37.		Cum	THE RESERVE AND ADDRESS OF THE PARTY.	948.77	129658.908
37.		Cum	Commence of the state of the same of the s	948.77	247989,503
37.	C Ditt	Cum	73.50	1116.50	82062.750
38	dumping site on road by M T for average 30km	MT	48.45	445.95	21606.278
39	site of work by manual labour for 300 m	МТ	48.45	452.68	21932,346
		-			9587340.258
	Deduct -0.50 % on all items				47936.701
	Allotted Cost				9539403.557

Checked by

Head Draightsman

Executive Engineer

[Jal Shakti PHE Division Sopore



## B Terms and conditions:

- O1. The total amount of the work should in no case exceed beyond Rs. 9539403.00 (Rs.Ninety five lacs thirty nine thousand four hundred and three only) which includes all taxes, levies etc.
- 02. The work shall have to be completed by you within a period of **90 days** failing which the panality under rules shall be imposed upon you
- O3. Performance security @ 3% of allotted cost i,e Rs.286182.00 in shape of CDR/BG/FDR shall have be deposited by you in this office within seven days from the date of issue of this allotment from this office failing which action shall be initiated as per SBD of the NIT.
- O4. An agreement shall have to be drawn by you with the department within a period of O7 days from the date of issuance of allotment, failure to execute such a formal deed shall not however prevent the contract from being enforced upon you. However payment on account of this work shall not be considered in absence of agreement.
- O5. The earnest money amounting to Rs.191750/= deposited by you in this office as a bid security against the contract vide CDR No: 063683 dated: 27-05-2022 shall be considered for release once the performance security @ 3% of allotted amount is deposited by you.
- 06. The allotted work shall have to be monitored by Third Party Monitoring Agency (WAPCOAS) appointed by the department.

07. All other terms and conditions shall remain same as laid down in E-NIT/ Standard bidding document/PWD from No 25 and GFR-17.

Executive Enginesh Jal Shakti PHE Division Sopore

#### Copy to the:

- 01. Chief Engineer Kashmir Jal Shakti PHE Department Srinagar for favour of information.
- 02. District Development Commissioner Baramulla ( Chairperson DJJM) for favour of information.
- 03. Superintending Engineer Hydraulic Circle Baramulla/Bandipora (Member Secretary JJM) for favour of information.
- 04. Assistant Executive Engineer PHE Sub Division Watlab for information and necessary action.
- 05. M/S WAPCOAS Ltd Corporate office 76-C intuitional area sector 18 Gurgon for information.
- 06. File Concerned